(b) /n if n is not a perfect square (HINT: write n = k*r, where r does not contain any square
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lf n is aol a pevfect square, then ot least
one of its factors is not a square. So we

Con wrike N=Kr where 1 does not ontain

Gny  Square factorg,

Now, we a1 que by oniradiCkon . Suppese that

nis not o perpect sguare and MM eQ.

Than e con  write \m=?lq) P,@eN,

here pard 9 have no common fockers

(p/q is in iXs Simples + form).

Then nN= P’/grz= Kr o, cquivaletly

r=p . Bur o s imposible bec ause
e

Y does not contan Scfuqre Padmr& Uence) &K¢Q



